INTERNATIONAL KANGAROO LINGUISTIC CONTEST 2016

Time Allowed: 60 minutes

3 - Point Questions|

1. Which is the shortest month of the year?

A) February
D) March
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B) July Q) January

E) Se p tember

2. How many faces do dice usually have?

A) two
D) cight

B) four C) six

E) ten

3. “... This cake is delicious!”

A) Yuck!
D) Uh-huh!

B) Woops! C) Alas!

E) Yum!

4. Which of the following is not a fruit?

A) a pineapple
D) a blackberry

B) an apricot
E) a tangerine

5. Which period of the day is the shortest?

A) morning
D) evening

B) noon Q) afternoon

E) night

6. “Watch out!” means ... .

A) Be careful!
C) Go away!
E} Stay out!

B) Run fast!
D) Watch a movie!

C) a radish
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7. ]Joan goes to her tennis club every Wednesday and Friday. How often does she play
tennis?

A) Once a week. B) Twice a week. C) Every fortnight.
D) Every day. E) Every weekend.

8. That red dress really ... you!

[
A) costumes B) suits C) goes
D) matches E) looks

4 - Point Questions

9, Once in a while means;

A) often B) never Q) always
D) usually E) rarely

10. We discussed the house plans ... our way to the shops.

A) by B) at Q) in
D) to E) on
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11. When yvou remove the skin of a fruit or vegetable vou ... it.

A) squeeze B) cut Q) slice
D) chop E) peel

12. Tom leaves his house at 7:45 and it takes him 30 minutes to get to work. What time
does he arrive at his office?

A) At a quarter past eight. B) At a quarter to eight.
C) At a quarter to seven. D) At half past eight.
E) At eight sharp.

13. The weather last summer was bad, but this summer it is ... than ever.

A) worst B) worse Q) the worst
D) the worse E) the best

14. T work as a doctor and my wife ... the same.

A) do B) is O) does
D) work E) is working

Level Ecolier (Class 3 & 4) Page 3 of 6




INTERNATIONAL KANGAROO LINGUISTIC CONTEST 2016

Time Allowed: 60 minutes

15. Leanne has three sisters, but she doesn’t have ... brothers.

A) any B) only C) every
D) much E) none

7

16. “The money ... on the table. You can take ... .

A)is /it B) are / them Q) are /
D) is / them E) are / it

5 - Point Questions

17. Don’t worry, you ... his house. It's painted bright orange!

A) can't lose B) can’t search C) can’t see
D) can’t miss E) can’t find

18. Jenny’s bike is identical ... Sarah's bike, isn’t it?

A) at B) on Q) for
D) to E) about

19. Which word is spelled incorrectly?

A) dairy B) wich C) loose
D) writing E) weather
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20. He's a famous architect ... designs won an international award last year.

A) that B) whose Q) who
D) which E) who's

21. The zebra is best known for its black and white ... body.

A) striped B) plain C) lined
D) dotted E) checked

22, Complete the dialogue:
Janes: ... does your sister look like?
Brian: She's quite tall and she’s got short brown hair.

A) How B) Who C) Which
D) What E) Whom

23. T don’t use my clothes ... very often because I prefer to hang my clothes on the line
outside.

A) stove B) dryer C) steamer
D) oven E) cleaner
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24. There are two Indians: a big Indian, and a little Indian. The little Indian is the big,
Indian’s son, but the big Indian is not the little Indian’s father. Who is the big

Indian?
A) The little Indian’s uncle. B) The little Indian’s mother.
©) The little Indian’s aunt. D) The little Indian’s grandma.

E) The little Indian’s brother.
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